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The partial fraction decomposition
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gives
∫
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0

(x + b)xµ−1 dx

(x + c)(x + a)
=

b − c

a − c

∫

∞

0

xµ−1 dx

x + c
−

b − a

a − c

∫

∞

0

xµ−1 dx

x + a
.

Let x = ct and x = at in the first and second integral, respectively, and use
∫

∞

0

tµ−1 dt

1 + t
=

π

sin πµ

to obtain the result.
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